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Staff analysis 

Example 1: 3 year policy with claim payments made over 15 years 

2. The staff built an example to include a hypothetical asset portfolio to consider 

presenting the effects on the insurance liability of a change in the discount rate in 

OCI together with changes in assets that may be presented in OCI as well.   

3. The analysis shown in this paper considers a hypothetical investment of an 

insurance premium in a portfolio of fixed income and equity securities.  The 

periodic claim payments that arise as a result of the insurance coverage are funded 

by bond maturities, cash returns of the investments (for example, dividends and 

interest), and if necessary, proceeds from sales of the investments. The analysis 

has the following assumptions: 

(a) The premium received at the beginning of the contract is $10M; the 

present value of the expected cash flows at that time is $7.7M; and, the 

resulting single/residual margin is $2.3M (assume there is no risk 

adjustment under IASB model in this example).  

(b) The insured period is 3 years, with claim liabilities paid over 15 years in 

varying amounts. 

(c) The single/residual margin is recognised straight-line over the payout 

period for simplicity.  

(d) There is no change in the expected cash flows other than those resulting 

from a change in the discount rate. The expected and actual cash outflows 

are as follows: 
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(e) 90 per cent of the $10M premium is immediately invested in AA-rated 

corporate bonds with varying maturities between 1 and 15 years 

(purchased at par) to match the maturity of the bonds to the expected 

payout of the liability.  

(f) 10 per cent of the $10M premium is immediately invested in the S&P 500 

index. 

(g) No other assets exist to pay the claim liabilities. 

(h) Claims that arise during a period are paid at the end of that period based 

on the availability of the following resources in order: 1) bond maturities 

(or sales if the fair value exceeds principal maturing in that period), 2) 

cash received from dividends or interest during the period, and 3) sales of 

equity securities (if available). 

(i) Excess cash during a period that remains after fulfilling the entire liability 

for the period is not reinvested. 

(j) Taxes are not considered in the analysis. 

(k) The income statements for each of the scenarios included in the examples 

are simplified and therefore do not contemplate the full presentation of 

the income statement (that is, premiums and other expenses are not 

presented).  

Year Cash Outflow
1 1,500,000        
2 2,500,000        
3 1,500,000        
4 1,500,000        
5 500,000           
6 500,000           
7 300,000           
8 200,000           
9 500,000           

10 100,000           
11 100,000           
12 100,000           
13 200,000           
14 200,000           
15 300,000           
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4. The evolution of prices for the equity securities is based on year-end prices of the 

S&P 500 index from 1996 through 2010. The evolution of prices for the 

hypothetical bond portfolio is based on the price returns of AA-rated corporate 

bond indices from 1996 through 2010. As held fixed income securities age in the 

analysis, price movements are developed based on the index that is relevant to the 

remaining maturity. Matching price returns of the hypothetical portfolio of fixed 

income securities to different AA-rated bond portfolios based on the remaining 

maturities of the bonds in the hypothetical portfolio allows the analysis to 

estimate the price of a the bonds within the portfolio through its entire life.  

5. The following graph shows the fair value of the bond portfolio compared with the 

current value of the insurance liabilities that result from an initial investment in a 

hypothetical portfolio of fixed income securities with maturities that are matched 

to the expected payments on the insurance liabilities. 

 

6. Fixed income securities that mature in a given period are assumed to be sold if the 

year-end fair value exceeds the principal amount to be collected upon maturity. 

Otherwise, par is assumed to be collected on the maturing securities. (Because the 

fair value at maturity approximates the par value, any resulting gains and losses 

from sales of the securities are insignificant to the analysis.)  
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7. The examples included in this Appendix are presented under four different 

scenarios, which are summarized as follows: 

  Assets Liabilities 

  Bonds Equities

Change in 

discount rate 

Scenario 1 FV-OCI FV-TPL PL 

Scenario 2 FV-OCI FV-TPL OCI 

Scenario 3 FV-OCI FV-OCI OCI 

Scenario 4 FV-TPL FV-TPL PL 

 

8. Under all four scenarios, balance sheet totals (that is, total assets, total liabilities, 

and total stockholders’ equity) are the same. The primary difference is within 

stockholders’ equity. AOCI and retained earnings are different in each of the 

scenarios, but together, result in the same total stockholders’ equity.  

Unrealised gains and losses 

9. The following chart shows the unrealized gains and losses on the hypothetical 

bond portfolio that would be presented in OCI compared to the unrealized gains 

and losses on the insurance liabilities that would be presented either in OCI or in 

net income, depending on the Scenario. For illustration purposes only, the staff 

assumed a yield curve for the discount rate for the period.   
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10. The staff primarily focused on the scenarios in which bonds are recorded at FV-

OCI and equities are recorded at FV-TPL but for completeness the staff also have 

also illustrated presentation of the unrealized gains and losses on the equity 

securities in OCI instead of net income. As such, the chart below shows the 

unrealized gains and losses on the equity securities are as follows: 

 

Year Bonds

Effect of Discount 
Rate Change on 

Liability
1 9,990$         (9,990)$                    
2 56,953         (56,951)                    
3 81,214         (81,213)                    
4 (237,677)      237,682                   
5 44,165         (44,158)                    
6 67,941         (67,941)                    
7 84,800         (99,451)                    
8 (28,692)        3,370                      
9 (52,520)        49,064                     
10 (24,740)        36,696                     
11 11,545         18,971                     
12 11,987         (11,028)                    
13 (27,355)        27,355                     
14 7,811           (7,826)                     
15 (5,422)          5,421                      

Net Unrealized Gains (Losses)

Year Equities
1 202,567$                 
2 372,787                   
3 420,032                   
4 389,552                   
5 (241,778)                  
6 (279,464)                  
7 (435,402)                  
8 376,682                   
9 162,316                   
10 59,029                     
11 275,926                   
12 81,247                     
13 (917,174)                  
14 343,833                   
15 231,342                   

Net Unrealized Gains (Losses)
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Net income under the four scenarios 

11. The following graph summarizes the effect on net income of each of the four 

scenarios: 

 

12. In the graph above, it appears that Scenario 1 (including the movement in the 

liability as a result of a change in the discount rate in net income) and Scenario 2 

(including the movement in the liability as a result of a change in the discount rate 

in other comprehensive income) would produce the same effect on net income. 

13. However, the staff notes that Scenario 1 and Scenario 2 only appear to produce 

the same effect on net income because the unwind of the discount rate in interest 

expense almost perfectly offsets the interest income in net income. This is 

illustrated in the graph below: 
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Scenario 4 ‐ Bonds: FV‐NI; Equities: FV‐NI; Change in liability discount rate: NI
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effects on insurance liabilities of changes in the discount rate is presented in OCI 

or net income.  

17. The following graph shows the effect on net income of the insurance liabilities 

only: 

 

18. For reference, the detailed information for the above charts and graphs is included 

in the remaining pages of this paper for each of the four scenarios.
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Example 2: 15 year policy with lump sum payment at the end of the 
coverage period 

19. The remainder of this paper includes another example with a hypothetical asset 

portfolio, but has different cash flow assumptions than the example above. The 

same graphs and charts are provided for this example to illustrate the four 

scenarios for an insurance portfolio with a different payout pattern.  

20. The analysis shown in this example considers a hypothetical investment of yearly 

insurance premium in a portfolio of fixed income and equity securities.  . The 

analysis has the following assumptions: 

(a) Premiums of $100,000 are received at the beginning of each year for 15 

years. The insured period is 15 years, with claim liabilities of $2.5M paid 

at the end of the 15th year.  

(b) The single/residual margin is recognized straight-line over the payout 

period for simplicity (there is no risk adjustment under the IASB model).  

(c) There is no change in the expected cash flows other than those resulting 

from a change in the discount rate. The expected and actual cash outflows 

are as follows: 

 

Year Cash Outflow
1 -                
2 -                
3 -                
4 -                
5 -                
6 -                
7 -                
8 -                
9 -                
10 -                
11 -                
12 -                
13 -                
14 -                
15 2,500,000      
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(d) 90 per cent of the premiums received are invested in AA-rated corporate 

bonds maturing at the end of 15 years to match the expected payout of the 

liability.  

(e) 10 per cent of the premiums are invested in the S&P 500 index. 

(f) No other assets exist to pay the claim liabilities. 

(g) Cash received from interest and dividends is reinvested 90% in bonds 

(with terms equal to the remaining payout period) and 10% in equities. 

(h) Taxes are not considered in the analysis. 

(i) The income statements for each of the scenarios included in the examples 

are simplified and therefore do not contemplate the full presentation of 

the income statement (that is, premiums and other expenses are not 

presented).  

21. The following graph shows the fair value of the bond portfolio compared with the 

current value of the insurance liabilities that result from an investment in a 

hypothetical portfolio of fixed income securities with maturities that are matched 

to the expected payments on the insurance liabilities. 

 

‐

500,000 

1,000,000 

1,500,000 

2,000,000 

2,500,000 

3,000,000 

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

Bond Portfolio and Insurance Liabilities

Bond Portfolio Insurance liability



 IASB Agenda ref 2E

FASB Agenda ref 82E

 

Insurance Contracts │Examples to illustrate the use of OCI 

Page 17 of 26 

22. Fixed income securities that mature at the end of the 15-year period are assumed 

to be sold if the year-end fair value exceeds the principal amount to be collected 

upon maturity. Otherwise, par is assumed to be collected on the maturing 

securities. (Because the fair value at maturity approximates the par value, any 

resulting gains and losses from sales of the securities are insignificant to the 

analysis.)  

Unrealised gains and losses 

23. The following chart shows the unrealized gains and losses on the hypothetical 

bond portfolio that would be presented in OCI compared to the unrealized gains 

and losses on the insurance liabilities that would be presented either in OCI or in 

net income, depending on the Scenario. For illustration purposes only, the staff 

assumed a yield curve for the discount rate for the period.   

 

24. The staff primarily focused on the scenarios in which bonds are recorded at FV-

OCI and equities are recorded at FV-TPL but for completeness the staff have also 

illustrated the presentation of unrealized gains and losses on equity securities in 

OCI instead of net income. As such, the chart below shows the unrealized gains 

and losses on the equity securities are as follows: 

Year Bonds

Effect of Discount 
Rate Change on 

Liability
1 208$             (208)$                      
2 8,464            (103,818)                  
3 11,877           (46,293)                    
4 (54,305)          212,293                   
5 10,747           (4,913)                     
6 20,727           (57,405)                    
7 58,894           (218,513)                  
8 (35,489)          21,489                     
9 (60,303)          33,797                     
10 (35,771)          37,889                     
11 11,336           39,102                     
12 30,147           (63,510)                    
13 (25,000)          125,117                   
14 114,072         (16,690)                    
15 (55,603)          41,662                     

Net Unrealized Gains (Losses)
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Net income under the four scenarios 

25. The following graph summarizes the effect on net income of each of the four 

scenarios: 

Year Equities
1 1,997$               
2 6,661                 
3 10,093               
4 11,281               
5 (7,895)                
6 (10,331)              
7 (18,242)              
8 18,335               
9 8,701                 

10 3,455                 
11 17,511               
12 5,507                 
13 (65,553)              
14 26,905               
15 19,243               

Net Unrealized Gains 
(Losses)
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26. The graph below shows that the unwind of the discount rate in interest expense 

almost perfectly offsets the interest income in net income.  

 

27. However, the graph below shows in more detail the effect that the change in the 

discount rate would have on the insurance liability and the movement in the value 
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of the bonds and the equity securities. The graph below illustrates a reason for 

recording both the change in the insurance liability and the change in the value of 

the bonds in the same manner (i.e., recording both changes in other 

comprehensive income or both changes in net income), as the change in the 

insurance liability would offset the change in the value of the bonds to an extent. 
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28. Scenario 1 in the graph uses the same assumptions for assets as Scenario 2 (that 

is, bonds: FV-OCI and equities: FV-NI), but the effects on insurance liabilities 

resulting from changes in the discount rate are reflected in net income instead of 

in OCI. If bonds are measured at fair value with changes through OCI and equities 

are measured at fair value with changes through NI, there may be significant 

changes in net income from one period to the next regardless of whether the 

effects on insurance liabilities of changes in the discount rate is presented in OCI 

or net income.  

29. The following graph shows the effect on net income of the insurance liabilities 

only: 
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30. For reference, the detail information for the above charts and graphs is included in 

the remaining pages of this paper for each of the four scenarios. 
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